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1.
Heights	of	10	students	are	given	below.	Find	the	mean.
Height	(in	cm) 134 150 160 163 168 174 175
No.	of	students 1 1 1 1 1 3 2

(i) 1667
10 cm (ii) 1649

10 cm (iii) 1647
10 cm (iv) 824

5 cm (v) 1657
10 cm

2.
Heights	of	30	plants	are	given	below.	Find	the	mean.
Height	(in	cm) 56 67 73 77 80 89 92
No.	of	plants 4 8 4 2 5 4 3

(i) 383
5 cm (ii) 373

5 cm (iii) 75cm (iv) 378
5 cm (v) 374

5 cm

3.
Ages	of	30	students	are	given	below.	Find	the	mean.
Age	(in	years) 10 11 12 13 14 15
No.	of	students 7 5 5 3 3 7

(i) 373
30 years (ii) 431

30 years (iii) 401
30 years (iv) 371

30 years (v) 62
5 years

4.
Scores	of	25	students	are	given	below.	Find	the	mean.

Score 71 72 73 77 79 83 85 86
No.	of	students 1 5 2 6 3 5 2 1

(i) 1972
25 (ii) 1949

25 (iii) 1947
25 (iv) 1997

25 (v) 1948
25

5.
Rainfall	of	15	days	are	given	below.	Find	the	mean.
Rainfall	(in	mm) 5 6 7 8 10 11 12 13 14 15
No.	of	days 1 1 1 2 1 3 2 1 2 1

(i) 187
15 mm (ii) 53

5 mm (iii) 157
15 mm (iv) 158

15 mm (v) 172
15 mm

6.
Temperatures	of	30	days	are	given	below.	Find	the	mean.
Temperature	(in	degree	C) 26 27 28 29 30 31 32 33 34 35

No.	of	days 2 1 3 3 6 1 2 4 4 4

(i) 331
10 °C (ii) 311

10 °C (iii) 313
10 °C (iv) 321

10 °C (v) 156
5 °C

7.
Weights	of	15	students	are	given	below.	Find	the	mean.
Weight	(in	kg) 44 46 49 50 52 53 56 60
No.	of	students 1 2 3 1 1 3 1 3

(i) 50kg (ii) 52kg (iii) 54kg (iv) 53kg (v) 51kg



8.
Wages	of	10	labourers	are	given	below.	Find	the	mean.
Wage	(in	rupees) 338 359 383 395 433 474 486
No.	of	labourers 2 2 1 1 2 1 1

(i) ₹400.00 (ii) ₹401.80 (iii) ₹400.20 (iv) ₹399.80 (v) ₹400.80



 1)	(iii)  2)	(ii)  3)	(iv)  4)	(iii)  5)	(iii)  6)	(ii)

 7)	(ii)  8)	(iv)
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